et | wfew qEf & TE 6
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Prfar: () o8 T o9 6 g 30 99 8| W we Al g
(i) T mE § T frow sl e weg By o €
Liii]!:rﬁﬂ'@q‘r]agﬁmt?mnﬁ%m#mrzﬁﬁﬂzﬁqmaﬁsfﬁgﬁﬂm
e T RIS oE G AT P v B um o9Em 16 W 24 9% W oEw B 9
& | wee weAT 25 9 30 e U 3T ® uee B |
Note: (i) There are in all 30 questions in this question paper. All guestions are compulsory.
(iiy Marks allocated to every question are indicated against it.

{iiiy Question No. 1 is multiple choice type guestion. Question Nos. 2 1o & are of one mark each,
Question Nos, 7 1o 15 are of two mark each. Question Nos, 16 to 24 are of three mark
each. Question Nos, 25 to 30 are of four mark each.

| =q e & owew wvs w w4 o Bee Bnom #) wEl e e See-gies
i Ry — 1#6=16
Four options are given in each part of question. Wrile the comect answer in vour answer book —
(m) Fr=falen § S weaud] sraeEs © -
Which of the following is an amphoteric oxide —
(i) Na,0 (i) ALD, {ili) Mo (iv) SO,
() T Wi, foree SR WA & T S W O # S e O 0 Al & FE FR B —
The process by which the black coating on silver and the green coating on copper ocours, known as —

(i) FETHI {ii} STFEER (iif) === (iv) e
Neutralisation Oxidation Reduction Corrosion

() e waE @ S oS W R 9T B -
Lymph is associated with which part of human system -
(i) Seres (i) ufrazs (iii) = (iv) FTe
Excretion Transportation Nutrition Respiration
() Riegr oReer i () o Y s R a1 Fm T o R e R e e v & —
The symbol used to represent a plug key or switch (open) in an electrie circuit is —
() = (i} —— i) — — (iv) —{s)}—

[1] [ E.T.O.



=i

(=) W'ﬁﬁﬁﬁwrw%ﬁﬁmgﬁrﬁﬂmﬁﬁ%—
The human eve forms the image of an object at its —
(i) if (i) wfeiE (i) e {iv) giETes
Cornea [ris Pupil Reting
() o R @ fafEns e g -

‘Bindiversity hot spots’ are —

(i} (ii) & (i) &l (iv) gte &=
Fields Forests (Gardens Polar region

Sreret @ A SE! B T e |

\Jame the main constituents of brass.
rgard . (HIV) ¥ femfie A oy |
Write full form of HIV.

Wr@aaﬁmwwﬂmﬁmﬁﬁﬁm%?
I which direction a freely suspended bar magnet rest i

A ?Jwaﬁm?ﬁﬁﬁlﬁ‘rﬂﬁ%?

What is the focal length of a plane mirror 7

=it % 9 FefmE n w AW ERET
Write name of two altemate soUrces of energy.

' oy TR A ] TR B —

Balance the following chemical equations —
() NaOH+H.80, — Na, S0, +H,0
(@) Fe+H,0——Fe,0,+11,

St il W AT @6 -
Mame the following compounds —

H: H-H H O
.| | .I | "
() H—C—C—C—0H fm) H—C—C—0OH
h |
H H~H H

el SHe w1 A R -

Write the name of tissue —

() @i =il A e Tl @ e e E |
Which transparts food in plants,

=) S e & e e Wi gt @ R e E
Which transports water and minerals in plants.

233 (HXL) 2]
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L4

13

16,

18,

Srares g £ 7 Al S weN e R @ we IR @ w7 1+1=12

What are Fossils 7 How fossils provide evidence for evolution ?

: qaﬂw-nﬁl?—mmﬁmwmﬁﬂﬁmﬁmﬂﬁmﬁﬂﬁmmﬁﬁﬁmmamﬁ%?z

What advantage over an aquatic organism does a terrestrial organism have with regard to oblaining
axvgen for respiration 7

T T 91 25 T T AR 10 fg § i S ) e ¥ wefea i @ T W | 2
25 coulomb of charge flows through a conductor in 10 second. Caleulate the current flowing through the
conductor.

20, 3 0 T 60 T A AR e wew S o e a g o 40 817 2

How can three resistors of resistances 2 02, 302 and 6 0 be connected to give a total resistance af 40 7

5D T 15D T % 8 o IeR o T g ¥ g9 weE @ e e et 7 2
Two lenses of pawer + 2.5 D and — 1.5 D are placed in contact with each other. What will be the power
of this combination 7
e ol o) e e o B | 1= 8 [+1=3
What is meant by “Producer” and ‘Consumer’ 7
Fr=farfia 21 semerie By Heg 995 - 1+1+1=3
Give the electronic dot structure of the following -
() TEAEE AT {4 BTEETT UTRES (M uliE TemEd
Ethanoic acid Hvdrogen sulphide Ethyl Alcohol
() TEeE FiW weec @ TEEhE g4 fEa | |

Write chemical formula of hydrated Copper Sulphate.

(@) e S AR W S A § 7wy A uive & P d e et
T Tl | 1+1=2
What is the chemical name of Plaster of Paris 7 Give chemical equation involved in the preparation
of Plaster of Pans.

=7 w6 & T (Fee A e i) — T+1+1=3

What happens when (Give chemical equation onlv—

(w) wrdE edaiimaEe oW g & T F vt e g
Carbon dioxide gas is passed through lime waler.

(u) i EEEr FEE w1 T e #

Sodium Hydrogen Carbonate is strongly heated,
() e T, o e o W R wee #
Rleaching powder reacts with dilute Hydrochloric acid.
YT (OR)
1 B T e et TR | et e et B L B L e 3

E-n-mpar-e and contrast the arrangement of elements in Mendeleev's Peniodic Table and the Modemn
Perodic Table.

233 (HXL) [ 3] [ RT.O.
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20.

21.

24

et # e oTT TR EEaTTEgE W ofiuEd S a8 7 weesd |
How is oxygen and carbon dioxide transported in human beings 7 Explain.

ik

e T AR G weE A A S ? T uewl & e § 7 3
What are the components of transport system in human beings 7 What arc the functions of these
compoenents 7
T e wifere feoft forflrd — 1¥+10=3
Write short note on following —
() A g () (@) T

Arificial kidney (Hemodialysis) Regeneration

I3

() forelt =mere & gl 2 A GfEE s B g ol
What is meant by electrical resistivity of the material of a conductor ? Clarify.

() fagge 9w @ Vg A @ fordl SRS OTg W gAE T R S S 1
Why is Tungsten metal selected for making filaments of an electric bulb 7

.a;qmahw%?a;qﬁﬁmwﬁ%ﬁmﬂwﬁﬁaﬁﬁﬁmmmwﬁﬁﬁw

1 T AN e g e fha o el 8 7 1+1+]=3

What is long sightedness ? List two causes for development of long sightedness, Describe with the ray
diagram, how this defect may be corrected by using spectacles 7

AT (OR)

5 ¥ T T o 20 W B 58 U ST v o e o & e Wl T | of @ g @

930 A E = BT ST A Wl () fufy (i) mEml ) sree g | 1+1+1=3

An object 5 cm in length, is placed perpendicular to the principal axis of a convex lens of focal length
70 cm. The distance of object from lens is 30 em. Find—{(i) Position {11} Mature
(iii) Size of image formed by it.

() o i @l & 7 ave ot @ U@ EeNs w e | 141=2
What iz Acid rain 7 Write one harmful effect of Acid rain.
() @ e ' Y 1
What is Food chain 7
AT (OR)
T vt wE < gar T & 2 e w g al o s & ol s o faftet @ weo
WIRAT | 3

What is meant by Rain Water Harvesting 7 Mention some of the common methods used for Ram Water
Harvesting by the rural people.

233 (HXL) [ 4]



e 115 e M R i s | ki e R 1414141 =4
Haow will obtain {Give chemical equation only) —

(F) TR ¥ TEE A (@) Ui Tewme W NI paEE S

Ethanoic acid from Ester Sodium ethoxide fom Ethyl aleohal
R s 1 Tl e AT () taEEE A W AT el

Methyl chloride from Methane Sodium acetate from Ethanoic acid

26, = W e A - 242 =4

Differentiate in following —
() srRiENE T4 SUEEEn () e d Ao

Oxidising agent and Reducing agent Mineral and Ore

AT (OR)

SiferET (] Rl 8) G WERT (TR i 16) AT WOl B W 16 @ 0 5 | 56w
et e o e O e ) e e T e B 2 = 1 B A 0

1+1+2 =4
Ohxvgen (atomic number 8) and Sulphur (atomic number 16) belong to group 16 of the penodic table,
Write the clectronic configuration of these two elements, Which of these elements will be more
electronegative and why 7

27. (%) s ofant g Fed € 7 Ama wR A wdl W oAl 8t esnEd afut @ A

fafigd | 1+bslt=2
What are Endocrine glands 7 Write the name of two endoering glands found in the human body.
=) s weE T S T e s B s 7 2

What is the difference between asexual and sexual reproduction 7

FeTET (OR)

-

(&) g & A O T F i o g |
Draw labelled diagram of human female reproductive system.
@ e v w T e s e R 2
Haow sex of a child is determined in human beings 7
28, (7) B ) oo am 8 99 SiheE — 141 =2
In the given circuit diagram, calculate —
(i) =@ cp @ e afEy
Total resistance in amm CD
(i) &8 g wanEn WA uT

Total current drawn from the battery

233 (HXL) I
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(o) e ¥ widome % v o g gferl @ areden A HHiE T S e A E 7 2
What are the advantages of conneeting electrical devices in paraliel with the battery instead of
connecting them in series 7

F2rET (OR)

(@) TE T P wem W 5V S 500 mA SifeT # 1w R - Filwlw
A toreh bulb is rated 5 V and 500 mA. Caleulate —
(i) o7 @ T
Power of bulb
(i) qo @ W
Resistance of bulb
(i} 4 T TeH W g g SUgS Sl
Energy consumed by bulb when it is lighted for 4 hours

() g g T e wet @ ax &1 FRter @ R wm E v 1
What determines the rate at which energy is delivered by 2 current ?
29 m]mﬂwﬁﬁﬁqu&ﬁwiﬁﬁmﬁaﬁr%? ]

What is the least distance of distingt vision for normal human eve 7
(@) T TS SUV S S anads +1 )| g w e § 7 ]

The magnification produced by a plene mirror is +1. What does it mean 7
() mrEn e i an @ ke E 2
Explain why do stars twinkle.

30 (@) == gy 251w gl B 8 7 I
What are the characteristics of a good fuel 7
() HeArE T T we & A o erE @) e Wiy affe 9 Ao TG 1Yl =3

Compare and contrast bio-mass and hydro electricity as source of enargy,

L E 2 L L 3]

233 (HXL) [ 6]
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G ; 3 HUE | [ goris @ 80
Time : 3 hours | | Max. Marks : 80

P (i) T T T A oo 30 v | v aitEE 8
(i) T T & B Frow o ue 9eg TR T
(iif) W99 e | sgEeeEg WET B WY UE 2 W 6 O UF AT 9 U | Ove
HEgr 7 W 15 W S ofe B owwn ) U FEm 16 9 2 uw W s § owe
FIUEEE 25 H T AR M T AT B |
Note: (i) There are in all 30 questions in this question paper. All questions are compulsory.

(i) Marks allocated to every question are indicated against it

{11y Cuestion MNe. | is multiple choice type question. Question Nos. 2 to 6 are of one mark each.
Question Mos. 7 w0 15 are of two mark each. Question Nos. 16 1o 24 are of three mark
each, Qll&ﬁlinﬂ Nos. 23 o 30 are of four mark cach,

. FHORE W OWAE @vw @ IR W R e B e @) w9 fRew avd em-yiew
A T — 146 = 6
Four options are given in each part of question. Write the correct answer in your answer book —

(@) Wk fems wre foewra &1 Wen o S € SEE pil TR 8 —
A solution turns red litmus blue. [ts pH i3 likely 10 be —
i1 {ii) 10 (iii) & fiv) 3

() Fe.0, +2Al—— AL, = 2Fe
Fre & sl & -

The ghove shown reaction is —

(i) wdrem wfhiem (it)  fafasenm afnfem
Combination reaction Double displacement reaction

(iii) Temor arffEm (iv) fewemmm il
Decompasition reaction Displacement reaction

L B 1ol LB e o s R | o
The Bowmans capsule in human beings is a part of the system for —

() vawA (i) e i) aegom (iv) uiEs
Respiration Nutrition Excretion Transporiation

[1] [PT.O.



|_..|.'|

n
b

10,

1.

() Frefafs # § F9 W gy fegm ot § Reg oft w5 Pl s § -

Which of the following term represent electrical power in an electric circuit —

0 i) 5 i} R i) IR
(=) ol = e W GO ueA o AT wen wnnfl A9 25 T F e ot i w
e g & | wE e # -
A person has to keep a reading material much bevond 25 em from the eye for comfortable reading,
He is suffering from —
(i} el (i) Fee gfe—gm (i) =9 ghc-sm  (iv) wicaiss
Presbyopia Myopia Hypermetropia Cataract
(w) Tt frT w & s A Hee it § -
In which of the following, nuclear fusion reactions are the source of energy -
T & L i) e e el i v m A (v) daw
Stars only Stars and Sun both Meither Stars nor Sun Sun only

&1 e CA) T R W pll A ween 5 w8 R )| g 8 9 W femm swem s 7 1
Two solutions “A” and *B* have pH values 5 and 8 respectively. Which solution will be basic in nature ?

7% Ud "l & US-UE e s @ gnrse ARy | 1
Write one example each of male and female sex hormones.

Forell freger wed & g # 9 1.5 A e o 20 P o weiiee B 8| fgE 9Rhew S s

Einie | crifeaficie il n i 1
A current of 1.5 A is drawn by a filament of an electric bulb for 20 minutes, Find the amount of electric
charge that flows through the circuit.

e e e o e e o e B 2 o - B el O | A 1
The focal length of a concave lens is 23 em. What will be the power of this lens ?

o B (e SR ) B et B 1 s e B e = ) B ]
What will happen if we kill all the organisms in one trophic level 7

Al We B T W ST S ud Her i ) s 3
Explain the formation of scum when hard water is treated with soap.

BIEEIH T T & ¢ gedt U sreifivs s et | 1+1=2
What s Hydrogenation ? Write one industriz! application of this process.

feresil fohar @ 8 7 witEd e # A = T R 6 7 1+1=2
What is reflex action 7 What is the role of brain in reflex action 7

TRrTer Tt (A § A T S | 2
Differentiate belween pollination and fertilisation.

e # ElE e o amen aifey | o s s ¢ 7 +1=2

Dieseribe the double circulation in human beings. Why is it necessary 7

233 (HXK) [2]



12, & fre g & 7 ey | 2
What 15 Ohm’s law 7 Explain.
13. (@) @ ores o w5 orel W el e g 7 i
On what factors does the resistance of a conductor depend 7
(=) fregm wfe e Ry e e & 7 |

What is the principle of working of an electric generator ?

4. "y & faum f sy = owEed § 7 W @ 5 9w faem T w1 Beewr
arftres BT 8 7 4] =2
What do you mean by dispersion of light ? Which colour of the spectrum deviates the most and which
the least ?

(BRI B e 1 | D e A s o B = A +1=2
What is *Ganga Action Plan® ? In which vear it was launched 7
16. U1 86 & WE (Fae et Seler S - #1411 =3

What happens when (Give chemica] equation only) —
(@) foem @7 373 K 92 7 fomgr o &
Gypsum is heated at 373 K temperature.
=) e B B ER | R B = e ) R B
Chlorine is treated with dry slaked lime.
VI e B v i B W e | BT o B ol | o o

~ Carbon dioxide gas passes through lime water.

17, () waie ® W T o & T 443 K T WO T 8 o = waale
HarE farfla 1

Write chemical equation for reaction of Ethanol with concentrated Sulphuric acid on heating at

443 K temperature.
(@) vuHTs & 2 wgam fafay I
Give two uses of Ethanol.
(W) S o @ Sifean a8 eue @ e st w5 TaEtie e |
Write chemical equation for reaction of Ethanoic acid with Sodium Bi Carbonate,
8. Gnqﬁ'iai&ﬁﬁﬂﬁfﬁﬁmﬁ%ﬁhﬁaﬁemw'fﬁﬁﬁl‘fﬁﬁmaﬁnaﬁgaﬁﬂaﬁﬂﬁm 3

Compare and contrast the armangement of elements in Mendeleev's Periodic Table and the Maodern

Periodic Table,
HEET (OR)
(&) "HERI W1 US TN S weEnd | 1
Explain "Corrosion’ giving an example.
(@) TR & WY BN Me0 =1 i gwiE ]

Show the formation of MO by transfer of eleetrons.

233 (HXK) ['3] [PT.0.



19, w7 # i au o SEereass o UaEE $9 gw 7 T

20.

21

(M e T o AEER St - 1
Mame the following compounds -
(1) O (i} 0
I [
CH,—C—CH, H—C—0OH

Led

How is oxveen and carbon dioxide transported in human beings 7 Explain.

g % e of v @ o o T EMA SRR B aee o et wi ) pesle =1

Compare and contrast nervous and hormonal mechanisms for control and coordination in animals,

B R = B o Lo B b e T 3 o R T 11 = . = ) s o 1Va+]le =3

Draw 2 diagram of the longitudinal section of a flower and label the following parts in it —

(@) TR (mr) i (1} afEmery
Anther Stigma Ovary

(&) TEEE &F e o = Aol AR

Write four properties of mapnetic lines of foree.

I3

() e Feger aw 9w 100 W; 200 V 3T § | s witke a=r g v 1
An clectric bulb is rated at 100 W; 200 V. Whart will be its resistance 7
(@) e o wu= B fm s e I

Define Snell's law of refraction.

(o) fEmror sy o HETIE W TEnEd S e w0 @ ol | 2aE v e ol 8 mem w
T 55 i w2 & 7 )
Explain with the help of a diagram, why a pencil partly immersed in water appears to be benr at
the water surface 7

T (OR)

st 3 W R T 15 9 S 50 e 200 9 20 O g w vl B ade e
G A R et | B b L e e BT | 2 B e s 1 B e e e 3
An object 3 cm size is placed 20 em in front of a concave mirror of focal length 13 em. At what
distance from (he mirror should a screen be placed in order to obtain a sharp image ? Find the nature
and size of the image formed ?

5] unﬂWT'ngF'EITETﬁTJTﬂ%?TWﬂW wrl g T W wwEy % fae amad vf Rt
Terd WG | 3
What 15 meant by Rain Water Harvesting 7 Mention some of the common methods used for Rain
Water Harvesting by the rural people.

HETET (OR)
() oie= o anrstet o T e 7 ]

What is the rale of decomposers in ecosystem 7

233 (HXK) [ 4]
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mmw%ﬂmuaﬁwﬁmﬁﬁﬁﬁﬁﬁﬁﬂqmﬁrﬁﬁﬂ%? 141 =2

What is ozone and how does it affect any ecosyslem 7

a5, (m) Al mad ‘E‘ﬁﬁ‘ﬁﬁﬁﬁmﬁﬂwﬁ?ﬂ#tﬁmﬁm%— [41=2
A solution of a substance “X is nsed for white washing —
f) el 30 T AT TR S A ferfary |
Name the substance *X° and write its Formula,
(i) S wRl X @ W o ey st ferfae |
Write the reaction of the above substance ‘X’ with water.
) o i w1 el s @ Rl T @ o § 7 5 el @
s feria | 1+1=2
Why are decomposition reactions called the opposite of combination reactions ? Write equations
for these reactions,
26. {E}Waﬁﬁwmm%?ﬁmrﬁwﬁﬁml 1
What i oxidation reaction 7 (ive one example.
(m) fye wdl = affie e - 1+1+1 =13
Define the following terms —
i) sEn (i) (i) E
Ore CGangue Mineral
Ferar (OR)
stiier (O] FiE 8) HIT HEw (UVAT A 16) e el @ g 16 7o B Al
=i @ gergitE fame feRat | == W e w e e = g g s m ?
14142 =4
Oxygen (atomic number 8) and Sulphur (atomic number 16) belong to group 16 of the periodic table.
write the electronic configuration of these two elements. Which of these elements will be more
electronegative and why 7
27. {m}wﬁm&mﬁwaﬁwgﬁm%? 1

()

What is the role of acid in our stomach ?
mﬁmﬂﬂgﬂﬁﬁﬂﬁa}mﬁmﬂwﬂﬁmﬁ%? 1
Why is the use of iodised salt advisable ?

() e 9 it T e S E 2 5
How is food transported in plants %
FHerET (O1)
IZ'LF]ﬂﬁﬁqﬁﬁﬁ?ﬂmfﬂﬁﬁﬁﬂmaﬁhtﬁrﬁraﬁ"ﬁﬁqﬁﬁmumﬁ? 1

How is the small intestine designed to absorb digested food ¥

() AT e oS e e aeEd T g Frerfefig o wefthy SifEd — et =3

Draw a diagram of human alimentary canal and label the following parts in it -

(i) s (i) =ee (i) s
Sromach Liver Pancreas

233 (HXK) [5] [ PT.O.



28, (@) ured Ui # S S - o 1+1=2
Tn the given circuit, late — '
n the given circui ¢H|Ej-lill. . m‘;’_\
(i) ufuw @ wme wins wu«—-,-:_/ >
S0k
Total resistance of the circuit A
iy i ¥ wanld e am A
I ;: . _"'"'I"I I. \\_"I__r
Total current in the cireuilt 12y
() Tige wmed (Tt @ ofvaite Sifed & gEer S e o R | +1=2
Define Electric Power and write its 5.1, unit also.
AT (OR)
() fit frema ooy ¥ T ww ghn & 7 1

When does an electric short cirewit oeeur ?
(@) wiieeT gud @ A0 T wEen ol § ¢ ae Bl oe g e 9 e 8 el
ferrer wmmemgl ofienferem ® 9w oo o SR qm = PeRw v w7 wwensd
1+2=13
How does a solenoid behave like a magnet 7 Can vou determine the north and south poles of a
current carrying salenoid with the help of a bar magnet 7 Explain.

29. () ww Mg wdv @ s Prem 25 &9 4 o wiww o0 wm gnh 7 1
The radius of curvature of a seherical mirror is 23 em. What will be its focal length 7
ey I e B B B o e (I B ol | 1 o T A e ol ]
Mame a mirror that can give an erect and enlarged image of an object.
() = @i fe o ol fEefEam ) 2

Explain why do stars twinkle,

KD = B x| O e e L T 1 L
What are the charactenistics of good source of energy 7
(e) i 9wt wi & Am Rl Bl o sdeedie A # ) aeS woe § R ae S 2

Name two energy sources that vou would consider to be renewable, Give reasons for vour choices,

I3

bk EE R
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